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l.a)  Compare and contrast OST and TCP/IP models,
b) Draw and explain in detail about ISO- OSI reference model [7+8]
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2.a) The foIlowmg data fragment occurs in the nnddle of a data stream for which

the-character stuffing algorithm described in the text is used: DLE, STX A,DLE,
B, DLE, ETX. What is the output after stuffing? -
““““ ataBFam subrist - BR 2 [847] 85
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ATM‘? How 1t helps in routmg ceIls? [7+8]
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7.a) What are the s11mlar1t1es and dlfferences between data lmk layer and transport

: 2236.

b [8+7]

B Bag s B Py % s«ai

aaaaaaaaaaa
s fac S

b) What is e-mail? Bneﬂy dlscuss about the User Agent : | S _. [8+7]
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